
Susie is having a party for her 9th 
birthday. She has invited 11 friends for 
a total of 12 partygoers. Use division to 
help her plan the party. Perform any 
other operations needed to help find the 
answer. Show your work.

6XVLH·V�GDG�EX\V���SDFNDJHV�RI�PXOWL�FRORUHG�
EDOORRQV�IRU�D�ZDWHU�EDOORRQ�WRVV��7KH\�GXPS�
WKHP�LQWR�D�SLOH�DQG�ILOO�XS�HDFK�RQH��:KHQ�
WKH\�DUH�GRQH�ILOOLQJ�DOO�WKH�EDOORRQV�ZLWK�
ZDWHU��WKHUH�DUH����UHG����EOXH����\HOORZ�����
RUDQJH�����JUHHQ�DQG���ZKLWH�+RZ�PDQ\�EDO�
ORRQV�ZHUH�LQ�HDFK�SDFNDJH"

,W�WDNHV����KLWV�IRU�WKH�SLQDWD�WR�EUHDN��
,I�HDFK�SHUVRQ�JHWV�WR�KLW�WKH�SLQDWD���
WLPHV��KRZ�PDQ\�SHRSOH�GLG�LW�WDNH�WR�
EUHDN�WKH�SLQDWD"

6XVLH�VHWV�XS�DQ�REVWDFOH�FRXUVH�IRU�D�
UHOD\�UDFH�DURXQG�KHU�QHLJKERUKRRG���,I�
WKH�FRXUVH�LV�����\DUGV�ORQJ�DQG�HDFK�WHDP�
KDV�WKUHH�SOD\HUV��DERXW�KRZ�IDU�GRHV�
HDFK�SOD\HU�KDYH�WR�JR"

6XVLH·V�PRP�EX\V�FDQG\�WR�SXW�LQ�D�SLQDWD��,I�
VKH�ERXJKW�D�WRWDO�RI����SLHFHV�KRZ�PDQ\�GR�
6XVLH�DQG�KHU����IULHQGV�HDFK�JHW"�$UH�
WKHUH�DQ\�SLHFHV�OHIW�RYHU"

6XVLH·V�%LUWKGD\� 
Word Problems

74  ÷ 11 =  6.72

Each child gets 6 candies each.

8 pieces are left over.

Susie + 11 friends = 12 kids

29  ÷ 3  =  9.6

It took 10 people to break the pinata.

  10

+  7

+  9

+14

+12

+  8

 --------

=  60 balloons 

 --------

123  ÷ 3  =  41

Each player has to go 41 yards.

60  ÷ 5  =  12 balloons 

12 balloons are there in each package.
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